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SECTION A — (10 × 2 = 20 marks)
Answer any TEN questions.
1. Write a note on the formulation of hypothesis testing problem.
2. Distinguish most powerful test and uniformly most powerful test.
3. Verify if binomial distribution belongs to one parameter exponential family.
4. Explain UMP Similar test.
5. State the theorem for the construction of LMP tests.
6. What are nuisance parameters?  Give an example.
7. Define tests with Neyman’s structure.
8. Discuss the procedure of LRT.
9. Describe the rule of SPRT.
10. Define ASN function of SPRT.
11. Distinguish parametric and non-parametric tests.
12. Define the two-sided test statistic for both one and two sample Kolmogorov-Smirnov test.
SECTION B — (5 × 5 = 25 marks)
Answer any FIVE questions.
13. Obtain MPT of size α for testing H: p = po against K: p = p1,  (p1 > po) based on a random sample of size ‘n’ from B(1, p).    
14. State MLR property.  Give an example of a family of distributions which has       
            an MLR property.
15. Find UMP unbiased test for testing H: µ = µo, 2 > 0 against 
            K: o,   2 > 0 based on a random sample of size ‘n’ from N(, 2 ).
16. Let X ~ B(n, p).  Find a level α LRT of H: p  po against K: p > po.
17. State the optimal properties of SPRT.
18. Describe Wilcoxon signed-rank test.
19. Explain Kolmogorov-Smirnov one-sided and two-sided tests for single         
            sample problem.
SECTION C — (3 × 10 = 30 marks)
		Answer any THREE questions.		
20. Obtain UMPT of H:   o or    1 (1 >  o ) against K: o  <   < 1 based     on a random  sample of size ‘n’ from N(, 1 ).
21. Give an example of a testing problem for which UMP test does not exist.
22. State and prove Neyman-Pearson fundamental lemma.
23. Let X1, X2, …, Xm  and Y1, Y2, …, Yn be independent random samples from    
            N(1,  ) and N(2,  ) respectively.   Use LRT to test H:   =   against       
            K:      .
24. Describe Wald-Wolfowitz  runs test and describe its asymptotic form.
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